Arithmetic ~ Monday

1. 192 +10= 10. 0.6 x 600 =

2. 367 +19 = 11. 6928 + 16 =

3. %+%= 12.2 x (3 +4)=

4, = 4562 - 708 13.45 x 776 =

5. 5632 x 39 = 14,1288 - 14 =

6. 45+0.72 = 15.13 + £ =

7. 50,000 - 8435 = 16. % + 6 =

8. 2% x 3 = 17.7.62 x 100 =

9. 62 +8= 18. 24% of 3462 =
Arithmetic ~ Tuesday

1. 144 x 6 = 10.1.04 x 10 =

2. % - Y%= 11. 612 -6.77 =

3. 4782 + 6382 = 12. % + 7 =

4 3x9x5= 13.367 x 75 =

5. 34 x 24 = 14. 4571 = 35 =

6. 6.003 +5.21 = 15. % x % =

7. 4782 - 398 = 16.3/10+ 4 =

8. 467,902 - 65,903 = 17.3.76 x 6 =

9. 450+ 09 = 18. 87% of 412 =




Arithmetic ~ Thursday

1. 6006 - 160 = 10. 4 x 800 =

2. B73 + 60 = 11. 5785 = 35 =

3. %+ %= 12.5+3 x6 =

4. 6836 - 547 = 13.71 x 663 =

5. 8000 x 0.6 = 14, 3451 = 17 =

6. 6.3-0.56 = 15. 22 + % =

7. 6010 + 509 = 16. % + 3 =

8. 3% x b= 17. 6.03 x 1000 =

9. 3° +13 = 18. 35% of 358 =
Arithmetic ~ Friday

1. 126 - 6 = 10. 1.67 = 1000 =

2. % - Y= 11. 23.6 -7.82 =

3. = 6713 + 438 12. §-%=

4. 45 x0.1-= 13.7304 x 66 =

5. 124 x5 = 14. 5676 + 43 =

6. 7519-3.6 = 15. # X % =

7. 8701 +734 = 16.% + 8 =

8. 509,004 - 24,561 = 17.903 x4 =

9. 63007 = 18. 95% of 5072 =




